(BlsR2) kg

SHSE6HSARE

mETH %%
FLHT-hiE

BT %

REREEREE

waRE"

EEANISKFPRICKHELE

MR- IR

T

K E)IFRE=14.4, B3)FRE=123,
BIIFRE=7.7, KEE)IIF1E=6,
BH)IFE=178 BEIHE=6.7,
BENIFRE=19, R )IE=15.1,
FHE)IGHE=6.5, FIRIFLE=7.6,
FRNIFRIg=4.5, LM =b)IlFRE=10,

P AFD)II5RI80=6.2, FTEHRIGFRE=11.1,
KENIFRE=16, §FH)IFE=7,
MEF)IFRE=12.3, BE)IIFE=-78

BiliRiE=(8, 7.2),
51 4E=(10, 18.5),
HENIFRE=(8, 13.5),
LM=B)IERE=(8, 9.1),
KEIFRiE=(8, 14.3),
SH)IRiE=(8, 6.3),
MEF )1 FRt=(8, 11),
BRIFRE=(8, 22.3)

ZE)II[BEHAM(L)],
BRII[2OFE-HE]

g

THE)RE=11.3, Z 7 EA)5RE=9.3,
ZiRNNFRE=12.2, EREIIFEE=6.6,
ZHERKFRE=4.1, K E)IFRE=135,
HENRE=5.7, FRE)IRE=8.3

FE)IRE=(8, 11.3),
=iRINGRE=(8, 10.7),
ZE)IFRIE=(8, 46.3)

ZE|I[ER-BERAM(L)],
BRIHESE]

A

FiEH

HER)IGE=16.8, £ B)Ilf5=20.7,
B Fat=6.3, KIB)IIFig=7.2,
S FRE=17.1, FIIFREi=6.2,
ERIRIE=7.4

BB IRE=(9, 15.1),
2B IIfkiE=(13, 18.6),
#h)1157E=(9, 15.3),

R8I FRtei= (13, 66.6)

AR R A)IHE],
FEAR) R (AR KAE]

BRIR™

INE I FRE=6.3, B ARIIFRE=14.2,
BRig=26.3, #aEJIIFRE=21.7,
BlHh)1i8i=19.4, Z)II515=9.8

HE)IIRE=(8, 21.7),
Z)IIifE=(8, 8.8)

ARNNITRAIE],
AR PR AR AAE]

FoiEth

FOINFRE=9.9, /NHIIFRE=15.9

AR R E)IHE],
AR iR (AR KAE]

PNl

BEIFRE=22.5, 5Ith)IlFRtE=10.4

54115k EE=(9, 9.3)

wmEAT

B ARIIFRE=106, 1B)I15EE5=16.3,
Kt )1 7E8=5.3

P AN SR PN ]

BT

BARNGRE=74, 1B)I7EH=1528

MR E=(15, 62.1)

PN

&

B ARIFRE=12.5, 51#)15R1H=155,
2 )I15R18=9.7, HBR)IIFRE=77

EJNE:

INE I FREE=9.2, B ARIIFRE=15

NEITRER= (9, 8.2),
B ARGRE=(9, 14.6)

AR R )45,
AR iR (AR KAE]

PN )

£ B)IIFR15=30.9, BJIIE=13.9,
B FR=9.3

Z =T

BIIFRE=6, PATIFIZ=13.9

BIIFRE=(9, 5.4)

=HEE

WBMAEM

EAE)NIRE=15.4

HaE™

HENRE=237, &)IFki5=86

HEJIIRE=(10, 21.3)

EFH

H#E 11 5R38=9.1

=T

FELLET

TWFRE=105, FF)IFiiE=6.2

[T

RS

IBIIFRI=15.4, B)IIFRiEH=9,
5)I5RE=18.6

BJIRE=(9, 8.2),
BRiE=(9, 16.7),
)= (13, 61.2)

LR AN ]

|
"

E350

m+/\E)II5RE=11.6, £BIIIE=146,
KIBNFRtE=6.2, BJIFitg=12.2,
JKEENRE=9.2, BENIRE=9.6

KiRIIFRE=(8, 5)

ER

ENIFRIE=15.2, /N8h)IlRE=18.2,
i)l FRig=36.1, B2 )IRiE=9.4,
$REF )R =101

[EETIE P AN RPN |

FRERT

B @I 5RE=6.5, #E)I5E=7.9,
115R18=9.7, FIIFRE=5.7,
R GRE=6.1

RN PR AR ARAE]

Z)II8T

o )15RIE=33.7

LR AN )]

FHIIES]

INER)IRE=12.4

BHE

R

FIFE=17.8, A)IIFEH=102,
RINGRIg=6.8, BE =71,
ARIVENFEE=11.2, KIEZ ) FaE=8.8,
K 5RE=8.7, L#)1I5715=5.3

FRE=(12, 16.6)

B FWL- 12 E]

3T

2RE=2.9, hftlRE=11.7,
BRI FRiE=7.1

KIHET

NIFNFRE=202, F)IFRE=5

BEENE1ERE]

FAERHET

NIFNFRE=19.9, FZ/IFRE=134

SEANIEL- 1R E-E T EE]

[ITEIq:§

RE)GE=9.2, &#ikE=11.7,
A1 =34.3

BN [FW]

R Rk ET

LT IIFRE=36, EE)IFRH=5.9

ERIIAE-ETEE]




(BIR2) #KEHRELE

SH5FE6H8HIRE
;ﬁ‘;ﬁiﬁ% AT TSR EEREE EE S RN P R L o0
il INEIRET FIFE=24.2, LT Il FREE=5, T NIFRE=(12, 45), EGN A -ZF1EE]
RINGRE=7.6, EE =71, WEIFRE=(12, 11.7)
chA =131, FF)IIFiE=10.1,
WENIFE=11.7, BI)IFRig=28.8,
BEEE=6.7, $hFT)IIFRiE=8.1
FEARET BIIF1=26.2, BE)IFig=14.1 — =
EEHT IKEE )| Fitei=8.7 — =
R [R BT g 5Rig=12.1 — —

Y (REREEY REFERER OBAEHEICLIREBEERLTVETS,




